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INSTRg@%Isz TO THE CANDIDATES
éig &

Answer all the hundreﬂﬂcvjyestlons each questlo c‘ﬁmes one mark.

Use only Black ba%l p%i'%t pen for writing / darkenmg the circles.

For each questlgin eafter selecting ynurfanswer, darken the appropriate circle
correspongl‘ng §to the same question rifumber on the OMR sheet.

Darkemﬂg two circles for the san%e. questxon makes the answer invalid.

Dam‘ﬁ‘gfmgloverwrmng, usmg whlteners on the%g;}()MR sheets are strictly

" / Enwronment‘h!g Studies éi’ggw
: /(COMMON TQ At BRANCHES) W
Hay A k [Max. Marks: 100

4.

prohibited. # i? A
st iy
The Karnataka State P Hu%i%m Control Board (K%) was established.in the year.
a) 1974 ﬁ )1982 Q%gi?n «d) 1983
s‘% ¥
Which of the folloggng is not a part of thg hy%rologwal cycle‘?ﬁg.
a) Precipitation” ?isgf fy, by “ b) Infiltration .
c) Transplratlcmw &ig; d) Perspiration
'y .
First In;er%atlonal Earth Summﬁtg@was hold at o Tl
a) USA “‘i’%g s N b) Russia’
¢) Rigsdé-Janerio ~ Ld d) Johannesburg
" °“3§
%ﬁ{hﬁch among the follo : has highest percemage of calorific value?
8 Anthracite ;j‘%g » Y,,b) Peat
“h.-c) Lignite ;;f%:?hg; ¥ . ¢  d) Bituminous coal
Y g
Nitrogen ﬁxmgxskga;ctena exists in-~ éaggéi; ;e
a) Leaf My, |\ b) Stem
¢)Roots # d) Flower

The two major compﬂn}enté g“;f'eco system are
a) Adiabatic and 1sotr015§&s
¢) Cyclic and b1010 ng?

ﬁSEB
Geothermal energyiis a

a) Heat energy o
¢) Current enérgy

eg,a fzn;
£ ey

b) Ecologic and climatologic
d) Abiotic and biotic

b) Wind energy
d) Solar energy
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5, P
The average life expectancy around the world is curregltly 3&5}
a) Decreasing b) Increasing
¢) Stabilizing d) N%ghangmg
The universal declaration of Human nghts Was {)%clmmed by the UN in,the year.
a) 1946 947 P *1%?*’?
c) 1948 ig.i‘%i d) 1949 z

|
. gE}:w

The objective of Integrated Child Dévei;épment Service (ICDS?
a) Immunization b b) Health check. p: .arfd referral services
c) Pre-school non formal educalg{gﬁ d) All of these |, Y’
5 é; #
:52

b) Geogf‘a"phlcal Information System
d) Gém:hJenrnaI Investigation Site

GIS stands for
a) Geostationary Interact éeotor
¢) Geotechnical lnfonngéfip%‘ Society

LPGis am1xture€?‘*&; T

a) Noand HpS %, B)CO and N,

c) Pmpane and.butanes d) Methane and CO,

The Tlgeglégiﬁservatlon Project was %taffed in

a) 1973, e b)1975 g ) 1981 ;‘5% d) 2000
gy 33} { §§i

The leader of “Chipko Movemenf’” is fﬁ%‘?s g -

a) Sunderlal Bahuguna b) Meéﬁig{ _,:‘%EQE%{V

¢) Vandana Shiva ¢ d) Nfﬁgatma Gandh1 9 ;;g

Which of the following Yethe source of Fly-a¢ 2" g

a) Vehicular exhaust « Jiby Sewage [yl

¢) Thermal powa?l *"d) All of these(, ;"

995

The permlsSlbfé‘%nge of pH for dﬁnklilg water as per the Indian Standard is

D609, A, b) 6.5 1085

c) 6 u;. ﬁ;@% PR d)6. 5%50 755
s

Water logging is a phcnqpﬁgﬁh m which

a) Water patterns are rot ai?e *?%é L}‘é*

t?@SmI root zone beeomes saturated due té over irrigation
iip

Erosion of soil. $;§ E,
d) Soil dcgradatl&g \ @

A, & ueii, e
Carbon co;gten; ?s higher in %és; _ 4
a) Living mggter b) Soil
c) Water e d) Atmosphere

Springs means
a) Surface water
¢) Both (a) and (b)

b) Atmosphere water
d) Ground water

B:o-remedlatmn méans deliberately introducing micro organisms to break pollutants.
a) Soil J b) Waste water
c) Gmupq{yater d) Both soil and groundwater
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In geosynchronous orbit altitude of the satellite is abo;u;% 174

a) 36,000 kms b) 10 ooaggﬁns

¢) 50,000 kms d) N%e ‘of these

The Air (Prevention and Control of Pollution) %A%ﬁwas enacted in the year.

) 1987 b) 1981 &&% 1991 d)- q%s
£

Kudremukh Iron are mine, Kamataka was, pﬁosed due to Y

a) River pollution and threat to blodlf%ﬁilty #

b) Land encroachment (% n ' :ﬂ%nm.

¢) Radioactive hazards £ i o 4

& 3
d) Serious health hazard !¥L§1 b, L

On the eve of Gandhi J aﬁth1 which andolan was El@timched by our Honorable Prime
Minister 'y, ;51 é%!

a) Swedeshi LN

c) Suvamagrama

b) Sa:%smkshana Abhiyana
d) Swach Bharath

-
agreement signed in the“ af 1987, to protect stratospheric ozone is

"ﬂ,&m%

i,

An 'mtemationaf
knownas 7. 7

%f%gz’
a) Montrea{f ‘protocol b) Kyoto protocol
c) Earth sugnmtt g;;é: w d) None of thfse
The explos:on of First Atomic B‘&;iyb was done in Hiro ﬁa and Nagasaki in
a) 1946 b) 1986 , c) 19455%% 4)1947

,{f "
A dangerous pesticide wh‘ieg Has been repotted to cause physical def&gmtnes to people of
Kerala and Kamataka states

a) Endosulfan b) Fluorides ) c) DDT

tgg

i d) Dioxygene

Visible portion o‘féjMR ranges betwe .
2)04-076pm | b)105-12. y' 0)80 1401¢m
i»?i%‘

Data rep;;g:sentatton in Raster data s by By
a) pixel - &Y v b) pog’gts lmes and polygon
c) lati;g.lde and longitude ;@;% L;a d) none ‘of these

d) None of these

In water treatment, alum used for f?mu

agulatlon f‘ ? filtration d) disinfection

i

ex avallable in the earth the percentage of surface water is about

A)50% ) A% D) 10%

o s% A% Q) less than 1%
Ry,

Hepatitis is cgused by &

a) Protozoa : ,sg;gfgéggg,, b) Virus

c) Bacteria ;9" d) Fungus

thrpe
In India groundwater resources are tich in
a) Plains of nveng!{averl and Krishna

b) The Deccan plateau
¢) The Gangettti piams

d) The plains of Netravati and Kapila

The required iron | content in drinking water as specified by BIS is
2) 300 mg. b) 30 mg/f ¢) 3 mg/l
¥ Version-B -3 of 8

d) 0.30 mg/l
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Molasses from sugar industry is used to generate /
b) Hydrogcli

a) Biodiesel
¢) Bioethanol d) B1Q133¢‘ﬂ13n01
fay,

Wind Farms are located in g .
a) River basin i%ﬁ ) Plain area A% g%fw
¢) Hilly area { *é%s;é Valley area Ly
Biomass consists of &% ¢
a) Lignin A F) el b) Hemi cellulos:éa%%
¢) Cellulose R gz%s d) All of these/, ¥

lm e
Natural gas contains ; . 5557 &
a) Carbon dioxide ;’“gig i: b) Hydmgéns
¢) Methane % g d) Nttgoggh
Anti tobaccoe day Is’m!‘:ntmned on
a)31%May [ 303‘ June
¢ 31" July {’ dy’31% August
Populat;g’h%kp osion will cause
a) Socio- Eeonomic Problems gaeigég;f:;w b) Food Scarcity,
¢) Energy crises ;E; 3 d) All of thesé‘

B ;

Which of the following element make e-waste hazatdy
a) Land i’?tg
¢) Plastic {4

a rsenic gt arnum )
¢)Cobalt | igf *%sg;f @) Cadumium WGALQRE 560 03

- G
What is the term used for reuse nt: }se%%ge sludge? sigégmq;
a) Comﬁ%’gt. oy % b) Solids, * ¥

What is the hazardéous pollutant released ﬁtoribattenes'?

¢) Bmsoh |§g;a : d) Sludgé

‘3‘?
Redﬁctlon in bnghtncss of the famous Taj Mafw,l is due to
g) Global warming " b) Air pollution
é’) Ozone depletton‘g \ i ’3 'g“‘d) Afforestion
E LA. canbe ;xp@{fiﬁed as :ééﬁ;sisr

a) Environment and Industrial Act E%‘?f
c) Env1rorffﬁental Tmpact Assessmient
&

Organic Farming is & fgg -

a) Farming without usn}g péctlctdes and chemical fertilizer

b) Enhances bmdwemty?”

¢) Promotes soil biological activity

d) All of these
.

b) Environment of Impact Activities
d) Environmentally Important Activity

Bio-remediati%‘hﬁeans the removal of contaminants from

a)Seil & b) Wastewater

c) Gmttﬁ@watcr d) Both soil and ground water
% Version - B - 4 of 8
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Plants use gas for photosynthesis. é“l’:t |

a) Oxygen b) Methatie

¢) Nitrogen d) Cﬁh@l’f dioxide

What is the maximum allowable concentratmnj%?*[uondes in drinking water?
a) 1.0 mg/l f“iétgg 125 mg/t esggﬁ
c) 1.50 mg/f . d) 1.75 mg/L EEW

£ #
Forest rich area in Karnataka is f()gl.l!%@ inE‘

o —— &
a) Western Ghats €, r b) Bandipur

¢) Nagarhole 4y ) d) Mangalore ',
L g%t’ &
“Minamata Disease” is caused due to A
a) Lead g;j;ﬁiﬁenic c) Me;-eﬁ\%»- d) Cadmium
Vi) )
Alternative eco- ﬁzg,ldly fuel for automobilesis 5
a) Petrol ™ _'b) Diesel tg@uCNG d) Kerosene
% ki
Population e‘xgl&slon will cause ;gw
a) Blodwé 4  b) Stress on ecosystem
c) More 3@10y1nent ‘gg?"fg;éw d) None of thg{c§
Wh[ch oTthe following is havmg hlgh population densmy?
a) India b) Chma= c) USA; d) ,_\%%gem Europe
N O
Demography is the stud!y (ﬁ" by % .
a) Animals behaviour gb%is?)pulatmn growth &

c) River @ e g) "None of these
Eys

Forest are callgd%?‘ . é%;g] _"5‘ "
a) Air punﬁer%m b) Earth’s lmi?% ¢} Oxygen reservoir  d) CO, absorbers
&

Which ggig;c followmg is the }fhcliity that the urban’ pe’gﬁe enjoy?
a) Be t’er quallty of air £ b) Better communication access

) L e‘land at cheap ratés§ Y d) Nene of these
A A5
"’V_Sq;llch ofthe followmg ;,sién air pollutant? ‘“%Eh
" d) Carbon d10x1deg § P Y b) Oxygen
lc) Nitrogen i ;3 #  d) Particulate matter
59. Cyoto toxic hnii exp1red drugs a@"d;éosed of by

a) da.mpmﬁ‘?sg Yo b) autoclave
¢) incineration & d) chemical disinfection

60.

61.

The colour code of plastlc f:ﬁg for disposing of microbial laboratory culture waste.

a) Black o’ b) Red

¢) Blue o d) White
sassgg

South Africa is Ioaémg exporter of which mineral?

a) Copper = b) Diamond

c) Sliver ¢ d) Gold

a]g
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62. The word “sustainable development’ came into ex1st lli
2) 1992 b) 1978 c) 1930m"§.§.
63.  The other word of landscaping is N
a) Reduction b} Réétoratlon -
¢) Removing topsoil E'%) estore a,é;"%gg’;f{%"

}
64, Cloud seeding with silver iodide is ba{sged ﬁ‘n%the P
a) Bergeron process b Colhsmn-—coalespence process

c) Both aand b 3 3" d)None of these v
l’% §

65. Environmental pollution is d!ié%% )

a) Rapid urbanization P b) Deforqatatfon

c) Afforestation £ g?’ d)a and b e

5

66. The liquid waste fr?m j)"ag;room and kitchen is calleﬁse

a) Sullage ; h) Domestic sewage

¢) Storm water " %E ‘d;‘Runoﬁ'

487 iIE]@E

67. BODme ‘\-E

a) Bmchcmlgﬁl Oxygen Demand P " b) Chemical oxygen demand
c) Btophy&bal Oxygen Demand E“w d) All of the; g

By, g= A b
. fg 5 i By
68.  Which of the following source is §iﬁrface water? . jﬁ%'
a) Springs . ! b) Stredins
¢) Deep wells g Il f these
69.  Which of the followmg l%’blodegradable" “3{?’%@,‘
a) Plastics . 4 Dl )Domestlc sewagem

¢) Detergents fy, ") aandc  §

o szp’
B - )
70. Blaring sounds Khown to cause ) #
a) Mental distress e b) High'eholesterol
c) Neuriairffgwal prob[ems % o d) Allioﬁtﬁese
&

&
71. Eutropiﬁlcatmn s P
3;3,) an improved quality %?}mtcr in lakes ﬂ%a
.. 'b)a process in carbon, cycle ‘
‘,%2‘ : c) the result to aceynulation of plant nqunts in water bodies
d) a water punﬁcati;, n technique O

At By ;g;i:‘
72.  Primary censum%r is bt
a) Herblvoré%? 5 b) Carnivores
¢) Macro consumers o d) Omnivores
*%i o
73. Which among the follo%gmg is a climatic factor?
a) pressure # b) humidity

c) temperature d) all of these
P 33‘ EE! et
b

74.  Biodiversity c{m be broadly classified into how many types?
a) 2 _ b} 5 c)3 d)4
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75.  Hot spot areas have
a) Low density of biodiversity b) Only;e?i angered plants
¢) High density of hot springs d) H1§h dens1ty of biodiversity
76.  About % of the earth’s surface is coverefi By water. S
2) 53% b) 19% ©) 1% d)f‘é?}%'
G y'
77.  Deforestation means - o N g
a) preservation of forests !ﬁj % b) destruction of forests
¢) monocrop cultivation ; %Eﬁf" d) agriculture ﬁ;% !;15“
é
78. When did National Disaster M 1 gement Authority formed%‘*
a) 2000 b) 200; ¥ c)2010 , ° d)2015
%%% B
79. Disaster is an event ar,lsmg:séut of s
a) result of hazard even b) causés of hazard event
¢) causes of dlsaséeffsgyent d) alf of these
80. The scientific sm&f of earthquake is calqu N
a) se1sm0g§%ph ) “p) seismology
c) both aiand'b 7 dynone ofthese
81. Woﬁdgggnwmnmemal day is held évery year on Bgé e
a) June 5% b) Octobef*@“" c) Apnl 32 ¥ d) November 1
%} ;if; 'i s
82. Ozone layer thickness is a&éb,gured in : 4 iy
a) mm b) cm” c) Dobson unit (ii)“éﬂb
U gy, ¥
83.  First of the major environmental protectiof’ gtg to be promu lgatedg.m India was
a) The Water Aot o ) The Air Act :
c) The Env1ro§}me§it Act %é " d) Noise Pollution Rules
S igi 4 &
84. Blue baby syfidrome is causes d ’%a’*g { '(
a) Manganese b) Ozon? §§ o Sllgen ' d) Nitrate
§¥g¢
85.  WorldBarth’s day is annuaff?; éﬁclebratcd on ¢
a) April 22 b) June 5t c‘}szsanuary 1# d) May 1*
‘g!g; Fgy
86& .'Fhe most unportant f%ef used by nuclear ﬁ&werplant is
“a) U-235 %igg b) U-238 s # ¢) U-245 d) U-248
i 5 Bl
87. Which of thé i{mowmg isa blotg;: ccgfhponent of ecosystem?
a) Fungi "y, . A b) Solar light
¢) Temperature e & d) Humidity
‘?; fiérs
88.  Abiotic component mcl{ﬁdejséi’
a) Soil & e b) Temperature
¢) Water - d) All of these
Ay gy
89, The word “Eng?ih@gﬁment” is derived from
a) Greek e b) French

c) Spanish d) English
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Which of the following is absorbed by green plants frdm the atmosphere'?
a) Carbon dioxide b) Wate:r
¢) Nutrients d) Aﬁ%f ﬂ'lese
Which of the following is a possible pmduger in z§i ecosystem? ©
a) Animal b) Plants ; ‘Eg} ‘Human beings ti F»éﬁgf
3
The largest reservoir of nitrogen in our. glaﬁ’fct is v
a) Oceans b) Blosphe?g si ¢) Atmosphere {{zs d) Rivers
%;% e
India has the world’s largest shg;;e ofﬁ’whwh ofthe followmg‘ ) v
a) Manganese b) Mlé‘?’ﬂ7 2 c) Copper d) Diamond
Identify the non renewalilé‘ii urce of energy from tl}égff@powm o
a) Coal i%? Fuel cells c) Wmd power d) Wave power

Which of the foiloﬁgng terminologies is nﬁgg associated with the vertical structure of
i By
forest? 31339

a) Canopy +, eé b) Understory %, ¢) Forest floor

d) First floor
Which of. ;ht%éllowmg is cause of c;,gss of biodiversity?

a) Haliltat degradation ?‘isg‘;ﬁf*‘ b) Invasion of non-native species
¢) Poltition %) d) All ofﬂ;ese

Air pollution from automo‘glles can be controlled b?*ﬁ ﬁg féigfém

a) Electrostatic prec1p1tagd1;§fsss b)C pne separator |, 5

c) Wet collector b 3 d) Cg}talytlc converter | ff’f’ .

When the solid wasté’ consists of largefaihount of organjFsig
content is high, m('?’ieh of the followm% m?eglods of t:reatmen§ D
a) Compostmg}a oy gﬁg b) Pa]letlzmg
c) Incmeranon by ) d) Recychglg
.4’5 o+ 3:;
Chemo& iNuclear Disaster quélig%d in the year
) 1984 b) 1985 | c) 19% d) 1987
P 523;}“;

Theprimary cause of aé rain around the dldiis
Fy

i %‘% ‘Carbon du)xnde = Qi: b? Sulphur dioxide
! ~«c) Carbon mono : ""d) Ozone
mggp * % k

¢ g}?é;j o

f&ga

igéiiar .
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